
AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
SECTION VIEW

AutoCAD SHX Text
IP0

AutoCAD SHX Text
M 1:16



Plywood under floor beams

JOIST 1.3

Principal placement of
plywood under baseframe

2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.1

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.1

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
12x100 mm plywood under baseframe Screws 4,2x45(A4) cc250

AutoCAD SHX Text
9 mm plywood   Scr. 4.2x30 cc150

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.1

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.1

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.2

AutoCAD SHX Text
2.3

AutoCAD SHX Text
2.3

AutoCAD SHX Text
12x100 mm plywood   Screws 4,2x45(RST A4) cc250

AutoCAD SHX Text
12x100 mm plywood under baseframe Screws 4,2x42(A4) cc250

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
BASEFRAME PLYWOOD

AutoCAD SHX Text
IP100

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Fix plywood under paseframe beams befor assembeling baseframe. Fix plywood under paseframe beams befor assembeling baseframe. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not nstallation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



Install insulation (not included) before under
wall boards

Floor beams 45x195

JOIST 1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.1

AutoCAD SHX Text
1.1

AutoCAD SHX Text
1.2

AutoCAD SHX Text
1.2

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.5

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.5

AutoCAD SHX Text
1.5

AutoCAD SHX Text
1.5

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.3

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.4

AutoCAD SHX Text
1.7

AutoCAD SHX Text
1.8

AutoCAD SHX Text
1.9

AutoCAD SHX Text
1.10

AutoCAD SHX Text
1.11

AutoCAD SHX Text
1.12

AutoCAD SHX Text
1.13

AutoCAD SHX Text
1.6

AutoCAD SHX Text
1.7

AutoCAD SHX Text
1.8

AutoCAD SHX Text
1.9

AutoCAD SHX Text
1.6

AutoCAD SHX Text
1.10

AutoCAD SHX Text
1.9

AutoCAD SHX Text
12x100 mm plywood under baseframe Screws 4,2x45(A4) cc250

AutoCAD SHX Text
9 mm plywood   Scr. 4.2x30 cc150

AutoCAD SHX Text
Screws HBS6x120(SC2), 4 for each joint

AutoCAD SHX Text
Batten 45x70  Screws 6x90, cc300

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
BASEFRAME

AutoCAD SHX Text
IP101

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



Cut mousenet to right lenght.
Install mousenet before plywood.

FLOORBOARDING LENGTHS

AutoCAD SHX Text
Cut mousenet strips (550x90mm).

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.4

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.6

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.6

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.5

AutoCAD SHX Text
3.4

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.3

AutoCAD SHX Text
3.3

AutoCAD SHX Text
Cut mousenet strips (550x90mm).

AutoCAD SHX Text
Cut mousenet strips (550x257mm).

AutoCAD SHX Text
Cut mousenet strips (550x257mm).

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.2

AutoCAD SHX Text
9 mm plywood between floorbeam Scr. 4.2x30 cc250(A4) Mouse net

AutoCAD SHX Text
12 mm plywood on site "4",Screws 4,2x45 cc250 x2

AutoCAD SHX Text
mousenet if necessary, cut to correct size fix with stapels 

AutoCAD SHX Text
9 mm plywood Scr. 4,2x30 cc150( A4)

AutoCAD SHX Text
Rafter hanger 2x170 4x40 2x2x6 pcs

AutoCAD SHX Text
60x200 2 pcs M12 l=140

AutoCAD SHX Text
Floor joist 45x195

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to assemble the elements. Follow appropriate detail drawings to assemble the elements. 2. All dimensions are based on external surface of main timber frame. All dimensions are based on external surface of main timber frame. 3. Installation plans and fastening materials are recommended by factory and are not mandatory. Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
BASEFRAME PLYWOOD

AutoCAD SHX Text
IP102

AutoCAD SHX Text
M 1:25 / A3L



5.2

5.2

5.2 5.2

5.2

5.2

5.1 5.1

AutoCAD SHX Text
Under Wall floor board 21x145   5,1-5,2

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.6

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.5

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.1

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.3

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.4

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.7

AutoCAD SHX Text
4.3

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.2

AutoCAD SHX Text
4.8

AutoCAD SHX Text
Under plywood on side of the floor construction 4.1-4.8

AutoCAD SHX Text
12 mm plywood on site "4",Screws 4,2x42 cc250 x2

AutoCAD SHX Text
mouse trap  scr 4.2x30 A4 cc 200 

AutoCAD SHX Text
21x145, installed before walls "5",Screws HBS 5x90 cc400

AutoCAD SHX Text
install insulation wool before board 

AutoCAD SHX Text
21x145, installed before walls 

AutoCAD SHX Text
Screws HBS 5x90 cc400 +one for each beam

AutoCAD SHX Text
Rafter hanger 2x170 4x40 2x2x6 pcs

AutoCAD SHX Text
60x200 2 pcs M12 l=140

AutoCAD SHX Text
Floor joist 45x195

AutoCAD SHX Text
21x145, installed before walls "5",Screws 5x80 cc400

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to assemble the elements. Follow appropriate detail drawings to assemble the elements. 2. All dimensions are based on external surface of main timber frame. All dimensions are based on external surface of main timber frame. 3. Installation plans and fastening materials are recommended by factory and are not mandatory. Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Under wall floor board on the beams

AutoCAD SHX Text
IP103

AutoCAD SHX Text
M 1:25 / A3L



Outside wall base belt 45x145

AutoCAD SHX Text
7.2

AutoCAD SHX Text
7.1

AutoCAD SHX Text
7.1

AutoCAD SHX Text
7.1

AutoCAD SHX Text
7.1

AutoCAD SHX Text
Half-half connection

AutoCAD SHX Text
7.2

AutoCAD SHX Text
45x145 sole plates "7", installed before walls  Screws 6x120 cc200

AutoCAD SHX Text
45x145 sole plates, installed before walls 

AutoCAD SHX Text
Screws HBS 6x90 cc200  + one for each beam

AutoCAD SHX Text
Rafter hanger 2x170 4x40 2x2x6 pcs

AutoCAD SHX Text
60x200 2 pcs M12 l=140

AutoCAD SHX Text
Floor joist 45x195

AutoCAD SHX Text
45x145 sole plates "7", installed before walls  Screws HBS 6x90 cc200

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
GROUND FLOOR Outside wall Base belt plan

AutoCAD SHX Text
IP104

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Check base floor dimensions before installation of sole plate. Check base floor dimensions before installation of sole plate. 2. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 3. All external dimensions are based on external surface of main timber frame. All external dimensions are based on external surface of main timber frame. 4. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 5. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



11
55

x1
22

0
W
B/

T
11
55

x1
22

0
W
B/

T

1155x1220
WB/T

1155x1220
WB/T

GD
P

98
4x

21
97

W
14

7T
L/

BL
14

70
x1
72

0
W
14

7T
L/

BL
14

70
x1
72

0

1155x1220
WB/T

1155x1220
WB/T

984x2197
DT

DR

A A A A A

AA

A
A

A

C

E
H

A

A A A A A A C

E
H

A A A A D

D

A6
00

B6
00

B600

B6
00

A600A600

A6
00

A3
00

A6
00

B6
00

A6
00

A6
00

A6
00

A6
00

B600

A4
00

A300

A3
00

A300

A400

880x2000

D1
90

A600

IW
-D

A600

IW
-D

A6
00

A3
00

A600

A6
00

B2
00

A

GD
R

GD
L

NB! Internal walls will
be assembled after
floor board in place

Outside corner connection

External wall connection
with base frame

A

Internal wall connection
with outside wall External wall connection

with base belt

AutoCAD SHX Text
880x2000

AutoCAD SHX Text
880x2000

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc120

AutoCAD SHX Text
Screws HBS6x120 2 for each element

AutoCAD SHX Text
Screws 4,2x45, cc120  on wall element joints

AutoCAD SHX Text
Additional beam  Screws HBS6x120 cc400

AutoCAD SHX Text
Wall elements screws 6x120, 2 for each element cc.300

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc120

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc120

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc120

AutoCAD SHX Text
Inside wall

AutoCAD SHX Text
2xM12 l=130...140+Washer M12(SC3) Predrill hole at site

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=65...70 mm Predrill hole at site

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=65...70 mm Pre drill hole at site

AutoCAD SHX Text
Rafter hanger 2x170 4x40 2x2x6 pcs

AutoCAD SHX Text
60x200 2 pcs M12 l=140

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
GROUND FLOORL WALLS

AutoCAD SHX Text
IP105

AutoCAD SHX Text
M 1:50 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. All external dimensions are based on external surface of main timber frame. All external dimensions are based on external surface of main timber frame. 3. Follow given dimensions for installing elements. Gap between element plywoods could be Follow given dimensions for installing elements. Gap between element plywoods could be 1-2 mm. 4. Cover element joints with tape. Cover element joints with tape. 5. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 6. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



75
0x

90
0

AA A A A A A A CD

A A A A AC A A A A DA

CEILING BEAM

NB!
Ceiling beams must be temporary supported until internal walls are in
place

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.2

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.2

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.2

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.2

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.2

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.3

AutoCAD SHX Text
16.4

AutoCAD SHX Text
16.6

AutoCAD SHX Text
16.7

AutoCAD SHX Text
16.3

AutoCAD SHX Text
16.1

AutoCAD SHX Text
16.5

AutoCAD SHX Text
16.5

AutoCAD SHX Text
16.7

AutoCAD SHX Text
16.8

AutoCAD SHX Text
16.6

AutoCAD SHX Text
ADJUSTABLE JOIST  LOCATION ACCORDING  THE FINSHING LAYER

AutoCAD SHX Text
ADJUSTABLE JOIST SUPPORT BEAM

AutoCAD SHX Text
16.2

AutoCAD SHX Text
16.9

AutoCAD SHX Text
16.3

AutoCAD SHX Text
16.4

AutoCAD SHX Text
16.4

AutoCAD SHX Text
16.10

AutoCAD SHX Text
16.10

AutoCAD SHX Text
16.10

AutoCAD SHX Text
16.10

AutoCAD SHX Text
ADJUSTABLE JOIST Fixed with 100x100x90 bracket, PF900105 nails  4.2x40 10/10

AutoCAD SHX Text
SUPPORT BEAM Fixed with 90x90x60 bracket PF9000090 bracket, nails  4.2x40 10/10

AutoCAD SHX Text
Sole plate on top of wall "9",screws HBS6x90 cc 500

AutoCAD SHX Text
SIMPSON

AutoCAD SHX Text
Strong-Tie

AutoCAD SHX Text
SIMPSON

AutoCAD SHX Text
Strong-Tie

AutoCAD SHX Text
PF900105(100x100x90) 1x M10 170

AutoCAD SHX Text
PF900105(100x100x90) 1x M10 120(SC3)

AutoCAD SHX Text
(100x100x90) 1x M10 170

AutoCAD SHX Text
aditional 45x145x300mm

AutoCAD SHX Text
screw 6x120  2 pcs/joint

AutoCAD SHX Text
ADJUSTABLE JOIST  bracet PF101060 2pcs connection anchor nails 4x40mm anchor nail 6 / 6   

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten the elements. Follow appropriate detail drawings to fasten the elements. 2. Dimensions are based on external perimeter of main timber frame. Dimensions are based on external perimeter of main timber frame. 3. Installation plans and fastening materials are recommended by factory and are not mandatory. Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
CEILING BEAMS

AutoCAD SHX Text
IP106

AutoCAD SHX Text
M 1:25 / A3L



Upper base belt 45x145/45x95

CEILING BEAM

AutoCAD SHX Text
9.2

AutoCAD SHX Text
9.1

AutoCAD SHX Text
9.1

AutoCAD SHX Text
9.2

AutoCAD SHX Text
9.1

AutoCAD SHX Text
9.1

AutoCAD SHX Text
Half-half connection

AutoCAD SHX Text
9.4

AutoCAD SHX Text
9.3

AutoCAD SHX Text
9.5

AutoCAD SHX Text
9.7

AutoCAD SHX Text
9.6

AutoCAD SHX Text
9.8

AutoCAD SHX Text
9.9

AutoCAD SHX Text
Sole plate on top of wall "9",screws 6x90 cc 300

AutoCAD SHX Text
Sole plate on top of wall "9",screws HBS6x90 cc 500

AutoCAD SHX Text
Sole plate on top of wall half-half connection screws HBS6x90 4pcs (cc80mm)

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc250

AutoCAD SHX Text
Wall element joints Screws HBS6x90 2pcs/elemnt

AutoCAD SHX Text
Top plate 45x95 Screws HBS6x120 cc600

AutoCAD SHX Text
(90x90x65) anails 6/6  4/40

AutoCAD SHX Text
Notes: 1. External dimensions are based on external surface of main timber frame External dimensions are based on external surface of main timber frame 2. Installation plans and fastening materials are recommended by factory and are not mandatory. Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Wall elements upper base belt

AutoCAD SHX Text
IP107

AutoCAD SHX Text
M 1:25 / A3L



75
0x

90
0

K1
J3

J4
K4

K2
J2

K1
J3

J1
K3

K2
J2

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
Trusses fixed to  elements "J" and "K" screws HBS6x120

AutoCAD SHX Text
Bracket  screws 5x60

AutoCAD SHX Text
element "J" and "K" screws HBS6x120

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
SECOND FLOOR WALLS

AutoCAD SHX Text
IP108

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



Tie removed after insatallation
(fixed with screws, 6x80mm 2x3pcs)

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.3

AutoCAD SHX Text
10.3

AutoCAD SHX Text
10.3

AutoCAD SHX Text
10.2

AutoCAD SHX Text
10.2

AutoCAD SHX Text
10.2

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
Trusses fixed to  elements "J" and "K" screws HBS6x120

AutoCAD SHX Text
Bracket  screws 5x60

AutoCAD SHX Text
element "J" and "K" screws HBS6x120

AutoCAD SHX Text
TRUSSES

AutoCAD SHX Text
bolt M12x70

AutoCAD SHX Text
bolt M12x130

AutoCAD SHX Text
fix ferm with two screws 6x120, two for both end

AutoCAD SHX Text
Mounting bracket 160x40x40, 2 pcs

AutoCAD SHX Text
Mounting bracket 160x40x40, 2 pcs

AutoCAD SHX Text
bolt M12x160 2 pcs

AutoCAD SHX Text
10.4

AutoCAD SHX Text
TRUSSES 10.4  3X Fix each truss with 4 mounting bracket (40x50x155),  Fasten with bolts 12x70 4pcs, 12x280 4pcs, 4for each truss

AutoCAD SHX Text
Fixed with screws 3 6x120 In building place fix 3 bolt M12 160

AutoCAD SHX Text
Fixed with screws 3 6x120 In building place fix 3 bolt M12 160

AutoCAD SHX Text
Fixed with screws 2 6x120 In building place fix 2 bolt M12 160

AutoCAD SHX Text
10.1

AutoCAD SHX Text
TRUSSES 10.1  15X Fix each truss with 2 mounting bracket (40x50x155),  Fasten with bolts 12x70 2pcs, 12x120 2pcs, 2for each truss, with 6x120mm screws in to gable wall (each wall pillar 2 pcs) 

AutoCAD SHX Text
3x 6x80 screws

AutoCAD SHX Text
3x 6x80 screws

AutoCAD SHX Text
TRUSSES 10.3  3X Fix each truss with 4 mounting bracket (40x50x155),  Fasten with bolts 12x70 4pcs, 12x120 4pcs, 4for each truss

AutoCAD SHX Text
10.3

AutoCAD SHX Text
Fixed with screws 3 6x120 In building place fix 3 bolt M12 160

AutoCAD SHX Text
Fixed with screws 3 6x120 In building place fix 3 bolt M12 160

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
ROOF TRUSSES PLAN

AutoCAD SHX Text
IP109

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



1155x1220
WB/T

1155x1220
WB/T

GD
P

98
4x

21
97

W
14

7T
L/

BL
14

70
x1
72

0
W
14

7T
L/

BL
14

70
x1
72

0

1155x1220
WB/T

1155x1220
WB/T

A C

E
H

A D

GD
R

GD
L

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.1

AutoCAD SHX Text
10.3

AutoCAD SHX Text
10.3

AutoCAD SHX Text
10.3

AutoCAD SHX Text
10.2

AutoCAD SHX Text
10.2

AutoCAD SHX Text
10.2

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
M12 160mm pcs

AutoCAD SHX Text
FE500240 (200x210x120x5)

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
Alumidi 230mm screws WS 7x113 cc30mm 7pcs

AutoCAD SHX Text
Alumidi nails LBA 4x60 38pcs

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65..75mm(SC3 hot calvanized)

AutoCAD SHX Text
2x M12 275...285mm SC3(Hot calvanized)

AutoCAD SHX Text
Trusses fixed to elements  "J" and "K" each post screws 6x120 2pcs cc600

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65..75mm(SC3 hot calvanized)

AutoCAD SHX Text
2x M12 275...285mm SC3(Hot calvanized)

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65...70mm

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65..70mm

AutoCAD SHX Text
M12 285mm(SC3)

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
Alumidi 230mm screws WS 7x113 cc30mm 7pcs

AutoCAD SHX Text
Alumidi nails LBA 4x60 38pcs

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65..75mm(SC3 hot calvanized)

AutoCAD SHX Text
2x M12 275...285mm SC3(Hot calvanized)

AutoCAD SHX Text
Trusses fixed to elements  "J" and "K" each post screws 6x120 2pcs cc600

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
M12 160mm pcs

AutoCAD SHX Text
FE500240 (200x210x120x5)

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65...70mm

AutoCAD SHX Text
PF101090 (40x50x155) 2x M12 65..70mm

AutoCAD SHX Text
M12 285mm(SC3)

AutoCAD SHX Text
Metal plate 2x120x400 t=5 4xM12x160

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
POST AND BEAM ON FRONT OVERROOF AREA

AutoCAD SHX Text
IP110

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
14.1

AutoCAD SHX Text
plywood between rafters

AutoCAD SHX Text
14.2

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.2

AutoCAD SHX Text
14.3

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.1

AutoCAD SHX Text
14.3

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=90 mm

AutoCAD SHX Text
12mm plywood between rafters Screws 4,2x45

AutoCAD SHX Text
21x45 on sides of trusses Screws 4,2x45

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=180 mm

AutoCAD SHX Text
M12 l=130 mm

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
PLYWOOD BETWEEN TRUSSES

AutoCAD SHX Text
IP111

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
roof board "15"

AutoCAD SHX Text
eave profile under roof underlay

AutoCAD SHX Text
roof underlay

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=90 mm

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=180 mm

AutoCAD SHX Text
M12 l=130 mm

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
roof boarding 21x112mm

AutoCAD SHX Text
Trusses fixed to  elements "J" and "K" screws 6x120

AutoCAD SHX Text
Bracket  screws 5x60

AutoCAD SHX Text
soffit element screws 6x120;cc 600

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc250

AutoCAD SHX Text
Scr. 4.2x56(A2)

AutoCAD SHX Text
Sole plate on top of wall "9",screws 6x90 cc 500

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
roof boarding

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
ROOFBOARD

AutoCAD SHX Text
IP112

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
21x95mm cc400mm; "12",screws 5x120(A4);  2 for each truss

AutoCAD SHX Text
21x45mm batten, cc600mm"11"  screws 5x80(A4)

AutoCAD SHX Text
eave profile

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=90 mm

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=180 mm

AutoCAD SHX Text
M12 l=130 mm

AutoCAD SHX Text
21x95 "12",screws 5x120(A4);  2 for each truss

AutoCAD SHX Text
21x45 batten "11",screws 5x80(A4); cc600mm

AutoCAD SHX Text
roof underlay

AutoCAD SHX Text
21x95 board screws 4,2x55

AutoCAD SHX Text
gable profile

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
21x95 "12",screws 5x120(A4); 2 for each truss

AutoCAD SHX Text
21x45 batten "11",screws 5x80(A4); cc600mm

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
ROOF BATTEN

AutoCAD SHX Text
IP113

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



OPEN AREA

AutoCAD SHX Text
M12 180mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
M12 160mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
FE500240 (200x210x140x5)

AutoCAD SHX Text
M12 160mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
FE500240 (200x210x120x5)

AutoCAD SHX Text
M12 160mm  3pcs/joint

AutoCAD SHX Text
Beam 140x240mm

AutoCAD SHX Text
21x70 board "31.7" screws 4,2x56(A4)

AutoCAD SHX Text
21x70 board "31.7" screws 4,2x56(A4)

AutoCAD SHX Text
Insect net with 700mm

AutoCAD SHX Text
Insect net all overroof area

AutoCAD SHX Text
Column 140x140

AutoCAD SHX Text
Metal plate 120x400x5, 2 pcs 4xM12x180

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
Alumidi screw WS 7x113 cc30mm 7pcs

AutoCAD SHX Text
Alumidi nails LBA 4x60 38pcs

AutoCAD SHX Text
Alumidi 230mm

AutoCAD SHX Text
M12 160mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
FE500240 (200x210x120x5)

AutoCAD SHX Text
Metal plate 120x400x5, 2 pcs 4xM12x170

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
POST MOUNTING

AutoCAD SHX Text
IP114

AutoCAD SHX Text
M 1:50 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Parapet steel profile installation order: corner profile and end profile, parapet profile. Parapet steel profile installation order: corner profile and end profile, parapet profile. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



Window battens
(cut to right
lenght)

Window plywood
(cut to right lenght)

Window sill
Window
plywood
(on window B)

AutoCAD SHX Text
steel profile 4.2x25 sheet metal screws

AutoCAD SHX Text
21x36 mm window profile -Package 5 screws 4,2x45 cc250

AutoCAD SHX Text
12x35 mm plywood screws 4,2x45 cc250

AutoCAD SHX Text
45x80 mm window top profile -Package 5 screws 5x120 cc400 (Pre-drilling)

AutoCAD SHX Text
steel profile (top sill) -Package 5 4.2x25 sheet metal screws

AutoCAD SHX Text
Tape with Wigluv 60 seal  steel profile and wall connection 

AutoCAD SHX Text
Tape with Wigluv 60 seal  steel profile and wall connection 

AutoCAD SHX Text
Additional beam to connect elements  screw 6x90 cc300 (min 2 pcs) 

AutoCAD SHX Text
Additional beam to connect elements  screw 6x90 cc300 (min 2 pcs) 

AutoCAD SHX Text
21x36 mm window profile -Package 5 screws 4,2x45 cc250

AutoCAD SHX Text
12x35 mm plywood screws 4,2x45 cc250

AutoCAD SHX Text
steel profile -Package 2 4.2x25 sheet metal screws

AutoCAD SHX Text
12x226 mm plywood

AutoCAD SHX Text
45x80 mm window top profile -Package 5 screws 5x120 cc250 (Pre-drilling)

AutoCAD SHX Text
steel profile (top sill) -Package 5 4.2x25 sheet metal screws

AutoCAD SHX Text
Tape Wigluv 60 seal  steel profile and wall connection 

AutoCAD SHX Text
Tape Wigluv 60 seal window and wall connection all of perimeter. 

AutoCAD SHX Text
Additional beam to connect elements  screw 6x90 cc300 (min 2 pcs) 

AutoCAD SHX Text
21x60 mm window profile screws 4,2x45 cc250

AutoCAD SHX Text
12x35 mm plywood screws 4,2x45 cc250

AutoCAD SHX Text
Screws 5x80

AutoCAD SHX Text
Tape Wigluv 60 seal window and wall connection all of perimeter. 

AutoCAD SHX Text
21x60 mm window profile screws 4,2x45 cc250

AutoCAD SHX Text
12x35 mm plywood screws 4,2x45 cc250

AutoCAD SHX Text
12x12 mm plywood

AutoCAD SHX Text
Screws 5x80

AutoCAD SHX Text
Screws 5x80

AutoCAD SHX Text
Screws 5x60

AutoCAD SHX Text
Tape Wigluv 60 seal window and wall connection all of perimeter. 

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to install windows. Follow appropriate detail drawings to install windows. 2. Please ensure that stored doors and windows are before installing secured from moisture and rainwater.  Please ensure that stored doors and windows are before installing secured from moisture and rainwater.  3. Cut window profiles and plywoods in correct lenght Cut window profiles and plywoods in correct lenght 4. Fix 12x35 plywood strips mm into the groove of window side and top jamb. Fix 12x35 plywood strips mm into the groove of window side and top jamb. 5. Fix 12x12 plywood strips and apply silicon sealant between jambs where two windows are together, secure Fix 12x12 plywood strips and apply silicon sealant between jambs where two windows are together, secure jambs with clamp and fasten two windows with screws. Ensure that fixing screws are 90° to jamb  6. Lift windows on top of the plywood fixed on sides of the floor. Lift windows on top of the plywood fixed on sides of the floor. 7. Fix windows with wedges and screws. Make sure windows opens and closes propperly. Fix windows with wedges and screws. Make sure windows opens and closes propperly. 8. Fasten plywood strips to the wall element with nails 2.5x50. Fasten plywood strips to the wall element with nails 2.5x50. 9. Seal windows with foam. Cover with a seal windows form outside so that window jamb is covered min 10 mm. Seal windows with foam. Cover with a seal windows form outside so that window jamb is covered min 10 mm. 10. Insatall window profile and steel profile according to drawings. Insatall window profile and steel profile according to drawings. 11. Installation plans and fastening materials are recommended by factory and are not mandatory. Installation plans and fastening materials are recommended by factory and are not mandatory. 12. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
WINDOWS

AutoCAD SHX Text
IP115

AutoCAD SHX Text
M 1:40 / A3L



AutoCAD SHX Text
Scr. 4.2x56(A2)

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Floorboarding plan ground floor

AutoCAD SHX Text
IP116

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Last board of every wall must be cut to correct width. Last board of every wall must be cut to correct width. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Internal wall base betl plan

AutoCAD SHX Text
IP117

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Last board of every wall must be cut to correct width. Last board of every wall must be cut to correct width. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Internal wall plan

AutoCAD SHX Text
IP118

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Last board of every wall must be cut to correct width. Last board of every wall must be cut to correct width. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



75
0x

90
0

AA A A A A A A CD

A A A A AC A A A A DA
Board material amount is sent in meter amount
Board connection must be dispersed.
Board connection on the same bearing support is allowed over 2 boards

AutoCAD SHX Text
21x145mm board (Cut to lehgth and width  in building place)

AutoCAD SHX Text
21x112mm floorboard (Cut to lehgth according stair opening in building place)

AutoCAD SHX Text
21x112mm floorboard (Cut to lehgth according stair opening in building place)

AutoCAD SHX Text
Scr. 4.2x56(A2)

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Floorboarding plan II floor

AutoCAD SHX Text
IP119

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Last board of every wall must be cut to correct width. Last board of every wall must be cut to correct width. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



C A A A A A A A A A

D

WT

WB

WT

WB

A

Vert. batten 21x45
Hor.batten 25x45

C A A A A A

D

A A A

DR

DTWT

WB

WT

WB

Vert. batten 21x45
Hor.batten 25x45

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
21x45 mm vertical battens "23",screws 5x80(C4), cc500

AutoCAD SHX Text
25x45 mm horizontal battens "24",screws 5x120(C4)

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
External vertical and horizontal batten plan

AutoCAD SHX Text
IP120

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Last board of every wall must be cut to correct width. Last board of every wall must be cut to correct width. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



W147TR

W147BR

H

GD
L

W147BL

K1

K2 J2
J3

K4 J4

GDT

E

GD
R

W147TL

Vert. batten 21x45
Hor.batten 25x45

H
A A A

WTWT

E

K1

K2
K3 J1

J2
J3

WB WB

A

Vert. batten 21x45
Hor.batten 25x45

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
External vertical and horizontal batten

AutoCAD SHX Text
IP121

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Last board of every wall must be cut to correct width. Last board of every wall must be cut to correct width. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



11
55

x1
22

0
W
B/

T
11
55

x1
22

0
W
B/

T
1155x1220
WB/T

1155x1220
WB/T

GD
P

98
4x

21
97

W
14

7T
L/

BL
14

70
x1
72

0
W
14

7T
L/

BL
14

70
x1
72

0

1155x1220
WB/T

1155x1220
WB/T

984x2197
DT

DR

A A A A A

AA

A
A

A

C

E
H

A

A A A A A A C

E
H

A A A A D

D

A6
00

B6
00

B600
B6

00
A600A600

A6
00

A3
00

A6
00

B6
00

A6
00

A6
00

A6
00

A6
00

B600

A4
00

A300
A3

00A300

A400

880x2000

D1
90

A600

IW
-D

A600

IW
-D

A6
00

A3
00

A600

A6
00

B2
00

A

GD
R

GD
L

AutoCAD SHX Text
29 (Wall corner batten)

AutoCAD SHX Text
880x2000

AutoCAD SHX Text
880x2000

AutoCAD SHX Text
Scr. 4.2x56(A4)

AutoCAD SHX Text
48x48 mm corner batten "29",screws 5x100(C4)

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
21x45 mm vertical battens "23",screws 5x80(C4), cc500

AutoCAD SHX Text
21x145 mm vertical panelling "30",scr 4.2x56(A4)

AutoCAD SHX Text
25x45 mm horizontal battens "24",screws 5x100(C4)

AutoCAD SHX Text
12 mm plywood on site Screws 4,2x42 cc250 x3(A4)

AutoCAD SHX Text
mouse trap

AutoCAD SHX Text
21x95, installed before walls Screws 5x80 cc400

AutoCAD SHX Text
9 mm plywood between floorbeam Scr 4.2x30 cc150(A4)

AutoCAD SHX Text
12x100 mm plywood under baseframe Screws 4,2x42 cc250(A4)

AutoCAD SHX Text
21x45 mm vertical battens screws 5x80, cc500

AutoCAD SHX Text
21x145 mm vertical panelling nails 2.5x65

AutoCAD SHX Text
25x45 mm horizontal battens screws 5x120

AutoCAD SHX Text
45x95 sole plates, installed before walls Screws HBS 6x90 cc500

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
External cladding

AutoCAD SHX Text
IP122

AutoCAD SHX Text
M 1:25 / A3L



Gable end rear side Gable end rear side

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
21x70 board screws 4,2x56(A4)

AutoCAD SHX Text
21x120 gable board screws 4,2x56(A4)

AutoCAD SHX Text
gable profile

AutoCAD SHX Text
roof boarding 21x112mm

AutoCAD SHX Text
21x45

AutoCAD SHX Text
21x95

AutoCAD SHX Text
Sole plate on top of wall "9",screws 6x90 cc 500

AutoCAD SHX Text
Insect net with 550mm

AutoCAD SHX Text
Trusses fixed to elements "J" and "K" screws 6x120

AutoCAD SHX Text
Bracket  screws 5x60

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc250

AutoCAD SHX Text
Wall element joints Screws 6x120 cc400

AutoCAD SHX Text
Scr. 4.8x50

AutoCAD SHX Text
21x70 board "31.7" screws 4,2x56(A4)

AutoCAD SHX Text
Insect net overlapped 100mm fixed with staples

AutoCAD SHX Text
roof underlay overlapped  fixed with 

AutoCAD SHX Text
ridge profile screws 4,2x19

AutoCAD SHX Text
Trusses

AutoCAD SHX Text
gable profile

AutoCAD SHX Text
roof boarding

AutoCAD SHX Text
21x45

AutoCAD SHX Text
21x95

AutoCAD SHX Text
21x95 board screws 4,2x56(A4)

AutoCAD SHX Text
gable profile

AutoCAD SHX Text
Insect net

AutoCAD SHX Text
Insect net with 300mm fixed with staples

AutoCAD SHX Text
21x70 board screws 4,2x56(A4)

AutoCAD SHX Text
Scr. 4.8x50

AutoCAD SHX Text
21x120mm  gable board screws 4,2x56(A4)

AutoCAD SHX Text
Measure from  eaves board

AutoCAD SHX Text
21x120mm  gable board screws 4,2x56(A4)

AutoCAD SHX Text
Measure from  eaves board

AutoCAD SHX Text
12mm plywood between rafters Screws 4,2x45

AutoCAD SHX Text
eave profile

AutoCAD SHX Text
21x70 board screws 4,2x55

AutoCAD SHX Text
21x95 board screws 4,2x55

AutoCAD SHX Text
Sole plate on top of wall screw 6x90 cc 500

AutoCAD SHX Text
21x45 mm vertical battens screws 5x80, cc500

AutoCAD SHX Text
21x145 mm vertical panelling nails 2.5x65

AutoCAD SHX Text
25x45 mm horizontal battens screws 5x120

AutoCAD SHX Text
Insect net with 700mm

AutoCAD SHX Text
21x45 on sides of trusses Screws 4,2x45

AutoCAD SHX Text
21x95mm CC400mm

AutoCAD SHX Text
21x45mm CC600mm

AutoCAD SHX Text
Insect net with 700mm

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=70 mm

AutoCAD SHX Text
WZU 155(40x50x155) 2xM12 l=160 mm Predrill hole at site

AutoCAD SHX Text
M12 l=130 mm(SC3 hot calvanized)

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
EAVES BOARDS

AutoCAD SHX Text
IP123

AutoCAD SHX Text
M 1:50 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Parapet steel profile installation order: corner profile and end profile, parapet profile. Parapet steel profile installation order: corner profile and end profile, parapet profile. 3. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 4. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



11
55

x1
22

0
W
B/

T
11
55

x1
22

0
W
B/

T

1155x1220
WB/T

1155x1220
WB/T

GD
P

98
4x

21
97

W
14

7T
L/

BL
14

70
x1
72

0
W
14

7T
L/

BL
14

70
x1
72

0

1155x1220
WB/T

1155x1220
WB/T

984x2197
DT

DR

A A A A A

AA

A
A

A

C

E
H

A

A A A A A A C

E
H

A A A A D

D

A6
00

B6
00

B600

B6
00

A600A600

A6
00

A3
00

A6
00

B6
00

A6
00

A6
00

A6
00

A6
00

B600

A4
00

A300

A3
00A300

A400

880x2000

D1
90

A600

IW
-D

A600

IW
-D

A6
00

A3
00

A600

A6
00

B2
00

A

GD
R

GD
L

R1
7

14
50

x1
70

0
R1

8
14

50
x1
70

0
R3 98

4x
21
97

R15
1137x1200

R15
1137x1200

R14
984x2197

R15
1137x1200

R15
1137x1200

R1
5

11
37

x1
20

0
R1

5
11
37

x1
20

0

AutoCAD SHX Text
880x2000

AutoCAD SHX Text
880x2000

AutoCAD SHX Text
R-2

AutoCAD SHX Text
R-1

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
STAIR LOCATION

AutoCAD SHX Text
IP124

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



x

830mmx2645mm (clear
opening)

R1
6

75
0x

95
0

Staircase view on the 2nd floor

AutoCAD SHX Text
750x950

AutoCAD SHX Text
R-2

AutoCAD SHX Text
R-1

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
STAIR LOCATION on the 2nd floor

AutoCAD SHX Text
IP125

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



SECTION R2 SECTION R1

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Inside view SECTION R1; R2

AutoCAD SHX Text
IP126

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



Ridge profile

Gable profile

Eave profile
on top of eave

Door&window top sill
profile

Door&window low sill
profile

Eave profile
below of eave

AutoCAD SHX Text
PAINTED SIDE

AutoCAD SHX Text
PAINTED SIDE

AutoCAD SHX Text
PAINTED SIDE

AutoCAD SHX Text
PAINTED SIDE

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
PROFILES

AutoCAD SHX Text
IP127

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



W147TR

W147BR

H

GD
L

W147BL

K1

K2 J2
J3

K4 J4

GDT

E

GD
R

W147TL

AutoCAD SHX Text
Base belt

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
FRONT WALL ELEMENT VIEW

AutoCAD SHX Text
IP128

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



H
A A A

WTWT

E

K1

K2
K3 J1

J2
J3

WB WB

A

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
REAR WALL ELEMENT VIEW

AutoCAD SHX Text
IP129

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



C A A A A A DA A A

DR

DTWT

WB

WT

WB

C A A A A A A A A A D

WT

WB

WT

WB

A

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
Base belt

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
ADDITIONAL BEAM TO  CONNECT ELEMENTS

AutoCAD SHX Text
Base belt

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
SIDE WALLS ELEMENT VIEW

AutoCAD SHX Text
IP130

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



Roof metal cover principal connection scheme:
Scr. 4.8x50
I: Every second high point cc.400 mm
J: Every high point cc200
K: Every high pint cc400

I

I

K

K

K

KK

K

J

J J

J

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Roof cover connection principal scheme

AutoCAD SHX Text
IP131

AutoCAD SHX Text
M 1:50 / A3L



AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Under eaves boarding

AutoCAD SHX Text
IP132

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Roof underlay installation order

AutoCAD SHX Text
IP133

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
H

AutoCAD SHX Text
B

AutoCAD SHX Text
S

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Roof detail profiles

AutoCAD SHX Text
IP34

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



OPEN AREA

B A

AutoCAD SHX Text
M12 180mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
M12 160mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
FE500240 (200x210x140x5)

AutoCAD SHX Text
M12 180mm pcs

AutoCAD SHX Text
SKR M12 140 2 pcs

AutoCAD SHX Text
FE500240 (200x210x140x5)

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Roof detail profiles

AutoCAD SHX Text
IP135

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



AutoCAD SHX Text
Trusses

AutoCAD SHX Text
21x70 board screws 4,2x56(A4)

AutoCAD SHX Text
21x120 gable board screws 4,2x56(A4)

AutoCAD SHX Text
gable profile

AutoCAD SHX Text
roof boarding 21x112mm

AutoCAD SHX Text
21x45

AutoCAD SHX Text
21x95

AutoCAD SHX Text
Sole plate on top of wall "9",screws 6x90 cc 500

AutoCAD SHX Text
Insect net with 550mm

AutoCAD SHX Text
Trusses fixed to elements "J" and "K" screws 6x120

AutoCAD SHX Text
Bracket  screws 5x60

AutoCAD SHX Text
Wall element joints Screws 4,2x45 cc250

AutoCAD SHX Text
Wall element joints Screws 6x120 cc400

AutoCAD SHX Text
Scr. 4.8x50

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
SOFFIT ELEMENT

AutoCAD SHX Text
DET B5

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



A

Wall element

AutoCAD SHX Text
45x145 l=450 mm HBS 5x90 3 pcs

AutoCAD SHX Text
Metal strip 40x2 An nails 4.2x40 10+10+2 pcs

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Cable wall extra connection

AutoCAD SHX Text
DET B6

AutoCAD SHX Text
M 1:25 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.



t=5

Metal plate MP1 120x400
4 tk
Hot galvanized

AutoCAD SHX Text
21.06.2022

AutoCAD SHX Text
ID:000-2018;     project:Klettar 60m2;          designer: M.K ;Drawer: M.K

AutoCAD SHX Text
Metal plate

AutoCAD SHX Text
Metal plate

AutoCAD SHX Text
M 1:2 / A3L

AutoCAD SHX Text
Notes: 1. Follow appropriate detail drawings to fasten elements. Follow appropriate detail drawings to fasten elements. 2. Installation plans and fastening materials are recommended by factory and are not Installation plans and fastening materials are recommended by factory and are not mandatory. 3. Factory is not responsible for this project statics and stability.Factory is not responsible for this project statics and stability.


	Sheets and Views
	Klettar 60m2 IP(ver.2)-IP0
	Klettar 60m2 IP(ver.2)-IP100
	Klettar 60m2 IP(ver.2)-IP101
	Klettar 60m2 IP(ver.2)-IP102
	Klettar 60m2 IP(ver.2)-IP103
	Klettar 60m2 IP(ver.2)-IP104
	Klettar 60m2 IP(ver.2)-IP105
	Klettar 60m2 IP(ver.2)-IP106
	Klettar 60m2 IP(ver.2)-IP107
	Klettar 60m2 IP(ver.2)-IP108
	Klettar 60m2 IP(ver.2)-IP109
	Klettar 60m2 IP(ver.2)-IP110
	Klettar 60m2 IP(ver.2)-IP111
	Klettar 60m2 IP(ver.2)-IP112
	Klettar 60m2 IP(ver.2)-IP113
	Klettar 60m2 IP(ver.2)-IP114
	Klettar 60m2 IP(ver.2)-IP115
	Klettar 60m2 IP(ver.2)-IP116
	Klettar 60m2 IP(ver.2)-IP117
	Klettar 60m2 IP(ver.2)-IP118
	Klettar 60m2 IP(ver.2)-IP119
	Klettar 60m2 IP(ver.2)-IP120
	Klettar 60m2 IP(ver.2)-IP121
	Klettar 60m2 IP(ver.2)-IP122
	Klettar 60m2 IP(ver.2)-IP123
	Klettar 60m2 IP(ver.2)-IP124 stair
	Klettar 60m2 IP(ver.2)-IP125 stair (3)
	Klettar 60m2 IP(ver.2)-IP126 stair (3)
	Klettar 60m2 IP(ver.2)-IP127 Profiles
	Klettar 60m2 IP(ver.2)-IP128
	Klettar 60m2 IP(ver.2)-IP 129
	Klettar 60m2 IP(ver.2)-IP130
	Klettar 60m2 IP(ver.2)-IP131
	Klettar 60m2 IP(ver.2)-IP 132
	Klettar 60m2 IP(ver.2)-Roof underlay installation order
	Klettar 60m2 IP(ver.2)-12121
	Klettar 60m2 IP(ver.2)-135
	Klettar 60m2 IP(ver.2)-B5 (3)
	Klettar 60m2 IP(ver.2)-B6
	Klettar 60m2 IP(ver.2)-metal plate


